Order form for

Please select the required parts here.

SD40/ SD50 clutch upgrade kit Unit Price Total
1 | Needle bearing (4pcs) € 46,00 €0,00
1 | M16L nut (tool steel, reusable) €82,00 € 0,00
1 | Spline tool ( steel, zinc-plated, reusable) € 82,00 €0,00
1 | Shimset 2x 0.1mm, 3x 0.2mm, 1x 0.5mm (steel, reusable) € 48,00 €0,00
1 | Step bearing (tool steel, reusable) € 82,00 €0,00
1 | axial bearing with bearing washer (2pcs.) € 28,00 €0,00
1 | 50gr abrasive (enough for many applications) € 6,00 € 0,00
Total €0,00
SD40/ SD50 Pressure less Service Kit Unit Price Total
1 | M10x1.5mm - 10mm incl. foam rubber ball €18,00 €0,00
1 | extra M10x1.5mm - 10mm € 10,00 €0,00
Total € 0,00
SD40/ SD50 Propeller Seal Service Kit Unit Price Total
1 | Radial sealing rings for SD40 / SD50 (FKM) (2pcs) € 54,00 €0,00
1 | O-rings (2pcs) € 12,00 €0,00
1 | Speedy Sleeve from SKF € 45,00 € 0,00
1 | Manual -
Total €0,00
Total (according to §19 UsTG no sales tax shown) Total
SD40/ SD50 clutch upgrade kit €0,00
SD40/ SD50 Pressureless Service kit €0,00
SD40/ SD50 Propeller Seal Service kit €0,00
M8 eyebolt V2A (+4,50€)
+ Shipping (depending on destination country, please inquire)
Total in € € 0,00

Amount received with thanks on:

Bank details: PayPal:

IBAN: DE61 1203 0000 1054 6112 62 "PayPal for friends" to mail address as below.

BIC: BYLADEM1001 Please only use "for friends", otherwise PayPal will
Deutsche Kreditbank AG Berlin deduct several euros in fees.

J. Brickwede, OstlandstraRe 18, 32339 Espelkamp; Mail: J.Brickwede@t-online.de , Tel.: 05772 / 4047 V.1.3



mailto:J.Brickwede@t-online.de
Jochen2.Laptop
Unterstreichen

Jochen2.Laptop
Durchstreichen


	Bestellbogen

	Summe40€: 0
	Summe55€: 0
	Summe100€: 0
	Summe10€: 0
	Summe45€: 0
	Anzahl1: 
	Anzahl2: 
	Anzahl3: 
	Anzahl4: 
	Anzahl5: 
	Anzahl6: 
	Anzahl7: 
	Nadellager: 46
	Mutter: 82
	Spline: 82
	PassscheibenK: 82
	SummeSpeedy: 0
	Anzahl8: 
	Anzahl9: 
	Anzahl10: 
	Anzahl11: 
	Anzahl12: 
	Anzahl13: 
	SummeKupplung: 0
	SummeSummeKupplung: 0
	Zusatz2: 
	PassscheibenF: 48
	SummeTülle: 0
	SummeDrucklos: 0
	PreisTülle: 18
	SummeSummeDrucklos: 0
	PreisSpeedy: 45
	SummeDichtring: 0
	SummeDichtung: 0
	SummeSummeDichtung: 0
	SummeZusatz1: 
	SummeZusatz2: 
	Zusatz3: 
	SummeZusatz3: 
	SummeVersand: 
	SummeAlles: 0
	PreisDichtring: 54
	PreisO_Ring: 12
	SummeO_Ring: 0
	Zusatz1: M8 eyebolt  V2A (+4,50€)
	Name: 
	SummeAxiallager: 0
	Axialbearing: 28
	Abrasive: 6
	SummeAbrasive: 0
	ExtraTülle: 10
	SummeTülleExtra: 0


